

Available online at: <http://alive.ajpm.unand.ac.id/>**Andalasian Livestock**

ISSN 3063-1912 (Online)



Research Article

Prevalence and Co-infection of Blood Parasites in Beef Cattle in Agam Regency, West Sumatra: An Epidemiological and Risk Analysis

M. Kamil*, Yulia Yellita

Department of Livestock Production Technology, Faculty of Animal Husbandry, Universitas Andalas, Indonesia

*Corresponding author: m.kamil0204@gmail.com

License and copyright: Copyright: © 2026 by the authors. Open-access publication under the terms and conditions of the **Creative Commons Attribution-NonCommercial-ShareAlike (CC BY-NC-SA)** license

Article history:

Received: 22-04-2026 | Revised: 29-05-2026 | Accepted: 08-07-2026 | Published: 28-07-2026

ABSTRACT

Blood parasitic diseases remain a major constraint to cattle productivity in tropical regions, including Indonesia. This study aimed to detect blood parasites and determine their prevalence in different types of beef cattle in Agam Regency, West Sumatra. A cross-sectional study was conducted using secondary data obtained from the West Sumatra Provincial Livestock Service. A total of 163 blood smear samples were examined, consisting of 22 local cattle and 141 crossbred cattle (Simmental and Limousin). Blood parasite identification was performed using *Giemsa-stained* thin blood smears observed under light microscopy. The results showed that *Theileria sp* and *Babesia sp* were the only blood parasites detected. The overall prevalence of *Theileria sp* was 70.55%, while *Babesia sp* was 18.40%. No infections of *Anaplasma sp* or *Trypanosoma sp* were found. Based on cattle type, the prevalence of *Theileria sp* was higher in local cattle (81.82%) than in crossbred cattle (68.79%), although the difference was not statistically significant ($p > 0.05$). In contrast, the prevalence of *Babesia sp* was significantly higher in local cattle (40.91%) compared to crossbred cattle (14.89%) ($p < 0.05$). Risk analysis indicated that local cattle had a higher risk of *Babesia sp* infection (RR = 2.75) and nearly four times higher odds compared to crossbred cattle (OR = 3.96). In conclusion, *Theileria sp* was the dominant blood parasite infecting beef cattle in Agam Regency, while *Babesia sp* infection was significantly associated with cattle type. Local cattle were identified as a higher-risk group for *babesiosis*. These findings highlight the need for improved vector control and routine surveillance of blood parasitic diseases, particularly in traditional cattle production systems.

Keywords: Blood parasites, beef cattle, prevalence, *Theileria sp*, *Babesia sp*, Agam Regency

INTRODUCTION

Blood-borne parasitic diseases in beef cattle represent one of the major challenges for the livestock industry in Indonesia and other tropical countries, where performance decline, productivity loss, and even mortality may be considerably high if animal stress is neglected or herds become infected within farms (Parveen et al., 2021c; Shabangu et al., 2025a). The primary infections in cattle include *Theileria sp.*, *Babesia sp.*, *Anaplasma sp.*, and *Trypanosoma sp.*, which are transmitted by vectors such as ticks and flies (Jian Muriu, 2023; Ramiro et al., 2025).

Cases of *theileriosis* and *babesiosis* in cattle have been widely reported in Indonesia, particularly in humid climates under extensive farming systems (Cahyaningsih, Yelitta, et al., 2026; Fuente et al., 2023). Local cattle are generally more susceptible to infection compared with crossbred cattle; however, infections in local cattle are often subclinical due to their adaptation to

endemic environments and feeding conditions (Casa et al., 2014; P. I. Ganesan et al., 2025; Perumalsamy & Sharma, 2024). In contrast, crossbred cattle such as Simmental and Limousin are frequently described as clinically more susceptible, although infection cases may occur less frequently due to more effective herd management practices (Youssif, Dyab, et al., 2026).

The prevalence and distribution of blood parasites among different beef cattle breeds remain poorly documented scientifically in *Agam* Regency, West Sumatra. Therefore, this study provides valuable data to support accuracy and improve understanding of epidemiological patterns in the region (Alwuthaynani et al., 2026; Gareh et al., 2026).

Blood parasites, including *Theileria* sp., *Babesia* sp., *Anaplasma* sp., and *Trypanosoma* sp. cause *hemoprotozoan* and *hemobacterial* diseases and are mainly transmitted through vectors, particularly arthropods such as ticks. Blood parasite infections are associated with anemia, fever, weight loss, reproductive disorders, and may lead to death, thereby directly affecting production efficiency and the economic sustainability of the livestock industry (Simking et al., 2014a) , (Cahyaningsih, Yellita, et al., 2026) .

Beef cattle are a vital commodity for achieving national food security, particularly as a major source of animal protein for the Indonesian population. Livestock development in West Sumatra Province, including *Agam* Regency and surrounding areas, is highly important. However, the agricultural sector involved remains relatively traditional and semi-intensive, as most beef cattle farmers operate closely with local crop farmers. Nevertheless, various health-related issues affect beef cattle production potential, one of which is blood parasitic disease, which is common in tropical countries (Shabangu et al., 2025b) , (Parveen et al., 2021a) .

Cattle from local breeds differ genetically from crossbred cattle (Simmental and Limousin) in terms of disease resistance and immune response to blood parasite infections (Cahyaningsih, Yellita, et al., 2026) , (de la Fuente et al., 2023) . Differences in blood parasite prevalence among cattle types were analyzed along with risk estimations (Odds Ratio/OR and Risk Ratio/RR) to obtain deeper insights into risk factors influencing the epidemiology of blood parasite infections (Cahyaningsih, Yellita, et al., 2026) , (Simking et al., 2014b) .

Agam Regency serves as a beef cattle development center supported by *agroecosystem* conditions in West Sumatra, characterized by environmental factors that favor the development of tick vectors. Despite significant progress reported in previous studies, epidemiological data on blood parasite prevalence in beef cattle across different cattle types in this region remain limited and not fully documented (Gharbi & Darghouth, 2015) . Therefore, this study employed secondary data analysis using records from the Livestock and Animal Health Service of West Sumatra Province as a strategic data collection approach to provide an initial overview of livestock health status at the population level.

This study aimed to analyze the prevalence of *Theileria* sp., *Babesia* sp., *Anaplasma* sp., and *Trypanosoma* sp. infections in beef cattle in *Agam* Regency, West Sumatra, and to identify differences in prevalence based on cattle type (local cattle vs. crossbred cattle). The findings are expected to serve as a basis for formulating more effective and risk-based control strategies for blood parasitic diseases.

Accordingly, secondary data from the Livestock and Animal Health Service of West Sumatra Province were utilized to analyze epidemiological trends and identify infection patterns based on livestock type and geographic distribution. The implementation of statistical and epidemiological analyses, along with implications for livestock health management through this approach,

contributes to the validity of the research findings and enhances the scientific rigor of this study (Youssif, Kamal Dyab, et al., 2026), (Gharbi & Darghouth, 2015) .

Furthermore, the current research emphasizes the practical application of findings to reduce the burden of blood parasites and improve animal welfare through vector control, routine *antiparasitic* treatment, periodic monitoring, and farmer education. As a systematic, evidence-based approach, this study contributes to the advancement of epidemiological research on blood parasitic infections in beef cattle in tropical regions and serves as an important reference for policy formulation and livestock health management in West Sumatra and Indonesia more broadly (Atea Kamel et al., 2024) , (Shahzad et al., 2025) .

MATERIAL AND METHODS

This observational study employed a cross-sectional approach using secondary data obtained from beef cattle blood smear examinations recorded by the Livestock and Animal Health Service of West Sumatra Province.

Data analysis was conducted based on health examination and surveillance activities of beef cattle in Agam Regency, West Sumatra Province in 2024. The examinations were performed in areas characterized by traditional to semi-intensive farming systems.

The study population consisted of all beef cattle whose blood smears were examined. A total of 163 specimens were analyzed:

- Local cattle: 22 heads
- Crossbred cattle (Simmental and Limousin): 141 heads

Blood parasite detection was performed using the thin blood smear technique, stained with *Giemsa*, and observed under a light microscope. Parasite identification was conducted through *parasitological* diagnostic methods based on the morphological characteristics of each parasite agent.

Research Variables

- Main variable: blood parasite infection status (*Theileria sp.*, *Babesia sp.*, *Anaplasma sp.*, *Trypanosoma sp.*)
- Comparative variable: cattle type (local vs. crossbred)

Data Analysis

Prevalence was calculated as the percentage of positive cattle relative to the total sample. Differences in prevalence based on cattle type were analyzed using the Chi-square test. Risk Ratio (RR) and Odds Ratio (OR) were calculated to assess the magnitude of infection risk according to cattle type. All analyses were *univariate* and descriptive-analytic.

RESULTS

Out of 163 examined blood smear samples, two types of blood parasites were identified, namely *Theileria sp.* and *Babesia sp.* No *Anaplasma sp.* and *Trypanosoma sp.* infections were detected in any of the samples.

Table 1. Prevalence of Blood Parasites in Beef Cattle in Agam Regency

Parasite	Positive in total (N)	Prevalence (%)
Theileria sp	115	70.55
Babesia sp	30	18.40

Commented [u1]: Semua tanda koma (,) dalam versi English ditulis titik (.) kecuali penulisan angka ribuan

Anaplasma sp	0	0
Trypanosoma sp	0	0

Based on Table 1 above, *Theileria* sp. was the most dominant blood parasite infecting beef cattle in Agam Regency, West Sumatra

Table 2. Total Prevalence of Blood Parasites by Beef Cattle Type in Agam Regency

Parasite Type	Total Positive Cases	Prevalence (%)	Positive Local Cattle	Positif Sapi Cross
<i>Theileria</i> sp	115	70.6	18	97
<i>Babesia</i> sp	30	18.4	9	21
<i>Anaplasma</i> sp	0	0	0	0
<i>Trypanosoma</i> sp	0	0	0	0

Based on Table 2 above, *Theileria* sp. was identified as the most dominant blood parasite affecting beef cattle in Agam Regency, with 115 positive cases out of 163 samples, resulting in an overall prevalence of 70.6%. *Theileria* sp. infection was more frequently detected in crossbred cattle (97 heads), while 18 positive cases were recorded in local cattle.

Meanwhile, *Babesia* sp. was detected in 30 cattle, yielding a prevalence of 18.4%. *Babesia* sp. infection was more commonly found in crossbred cattle (21 heads) compared to local cattle (9 heads). No samples were positive for *Anaplasma* sp. or *Trypanosoma* sp., indicating that these parasites were not present in the studied population.

These findings suggest that *Theileria* sp. is the primary blood parasite affecting beef cattle in this area, while *Babesia* sp. is also present but at a lower prevalence. This information is important as a baseline for planning blood parasite control strategies, particularly by considering the distribution of infections between local and crossbred cattle, so that livestock health interventions can be more effective and targeted.

Table 3. Co-infection of *Theileria* sp. and *Babesia* sp. in Agam Regency

Cattle Type	Total Samples	<i>Theileria</i> only	<i>Babesia</i> only	Co-infection (<i>Theileria</i> + <i>Babesia</i>)	Negative	Co-infection Prevalence (%)
Lokal	22	11	2	7	2	31.8
Cross	141	84	8	13	36	9.2
Total	163	95	10	20	38	12.9

Based on Table 3 above, the co-infection results from 163 beef cattle showed that 20 cattle were identified with dual infection of *Theileria* sp. and *Babesia* sp., resulting in an overall co-infection prevalence of 12.9%. When compared across cattle types, local cattle exhibited a higher co-infection prevalence of 31.8% (7 out of 22 specimens) than crossbred cattle, which showed a prevalence of 9.2% (13 out of 141 samples).

Relative to crossbred cattle, local cattle with a higher proportion were more likely to be infected and appeared to be more susceptible to dual blood parasite infections. Among local cattle, 11 cattle were infected with *Theileria* sp. only and 2 cattle were infected with *Babesia* sp. only, whereas in crossbred cattle, 84 were infected with *Theileria* sp. only and 8 with *Babesia* sp. only. Blood parasites were not detected in 2 local cattle and 36 crossbred cattle.

Commented [u2]: sda

Commented [u3]: sda

These findings highlight the need for special attention in controlling blood parasite infections in local cattle, as the high prevalence of co-infection indicates a greater potential for more severe health impacts and reduced livestock productivity. Furthermore, co-infection analysis using OR and RR can be used to assess the relative risk between local and crossbred cattle, serving as a potential tool for developing more targeted control strategies.

Tabel 4. Statistical Analysis of Blood Parasitic Infections in Agam Regency

Parasit	Chi-Square (χ^2)	p-value	Odds Ratio (OR)	Relative Risk (RR)	Interpretation
Theileria sp	1.23	0.27	2.04	1.19	The risk of infection was higher in local cattle than in crossbred cattle; however, the difference was not statistically significant.
Babesia sp	7.12	0.008	3.95	2.74	The risk of infection was higher in local cattle than in crossbred cattle, and the difference was statistically significant
Koinfeksi Theileria + Babesia	5.48	0.019	4.55	3.46	Local cattle were more susceptible to co-infection, and this association was statistically significant.

Commented [u4]: English

Commented [u5]: Tanda baca (,) atau (.) ?

Based on Table 4, the statistical analysis indicates that *Theileria* sp. infection showed an Odds Ratio (OR) of 2.04 and a Relative Risk (RR) of 1.19, suggesting that local cattle had a higher risk of infection compared to crossbred cattle. However, the Chi-square test result ($\chi^2 = 1.23$, $p = 0.27$) indicated that this difference was not statistically significant, implying that *Theileria* sp. infection was relatively evenly distributed between local and crossbred cattle.

In contrast, *Babesia* sp. infection showed an OR of 3.95 and an RR of 2.74, indicating that local cattle were more susceptible than crossbred cattle. The Chi-square test ($\chi^2 = 7.12$, $p = 0.008$) demonstrated a statistically significant difference, confirming that local cattle had a significantly higher risk of *Babesia* sp. infection.

The co-infection analysis of *Theileria* sp. and *Babesia* sp. yielded an OR of 4.55 and an RR of 3.46, with a Chi-square value of 5.48 and $p = 0.019$. These findings indicate that local cattle had a significantly higher risk of co-infection compared to crossbred cattle, emphasizing the importance of targeted control measures for the local cattle population.

Overall, these statistical findings provide a deeper understanding of differences in the risk of blood parasite infection and co-infection between local and crossbred cattle, and may serve as a basis for more effective and evidence-based parasite control strategies.

DISCUSSION

The high prevalence of *Theileria* sp. (70.6%) indicates that this infection represents a major problem in beef cattle production in Agam Regency, West Sumatra (Shabangu et al., 2025b), (Parveen et al., 2021a). This finding is consistent with previous studies in Indonesia and several Southeast Asian countries, where *Theileria* sp. has been reported to be more dominant than

Babesia sp. (Silva-Ramos et al., 2025) , (Muriu, 2023) . The higher prevalence observed in local cattle (81.8%) compared to crossbred cattle (68.8%) may be associated with genetic factors and differences in parasite resistance (Elati et al., 2023) , (Simking et al., 2014a). Local cattle are often considered to have natural resistance to certain diseases; however, in the case of *Theileria* infection, environmental exposure and herd management practices may contribute to increased susceptibility (Cahyaningsih, Yellita, et al., 2026) , (de la Fuente et al., 2023).

Although the prevalence of *Babesia* sp. was lower (18.4%), it remains important, particularly among local cattle (40.9%) (Cahyaningsih, Yellita, et al., 2026), (Simking et al., 2014b) . *Babesia* sp. infection may cause hemolytic anemia, fever, and reduced productivity (P. Ganesan et al., 2025), (Sangwan & Haq, 2024) , therefore requiring attention in livestock health management. The OR and RR analysis showed that local cattle were at a higher risk of *Babesia* sp. infection (OR = 3.95; RR = 2.74) compared to crossbred cattle (Youssif, Kamal Dyab, et al., 2026), (Gharbi & Darghouth, 2015) , reinforcing the need for targeted interventions in local cattle populations.

The absence of *Anaplasma* sp. and *Trypanosoma* sp. infections in the analyzed samples may be attributed to low vector presence or sampling periods that were not conducive to transmission (Dharaneshha et al., 2017) , (Fadunsin et al., 2017) . This result differs from studies conducted in other tropical regions that reported *Anaplasma* sp. infections (Atea Kamel et al., 2024) , indicating that epidemiological variation may be influenced by environmental factors and livestock management practices.

Blood parasite control strategies in beef cattle should consider several aspects: improved herd health management, vector control (e.g., ticks and biting flies), periodic antiparasitic treatment, and regular monitoring for early infection detection (Shahzad et al., 2025), (Farooqi et al., 2017) . In addition, farmer education regarding the identification of clinical signs and preventive measures is an essential step to reduce prevalence (Mosqueda et al., 2012) , (Safiuddin et al., 2025).

The present study also highlights the importance of continuous surveillance and integration of epidemiological data to design more targeted control strategies (Fadunsin et al., 2017), (Putri Ani et al., 2025). Spatial mapping and environmental risk factor analysis may assist in identifying high-risk areas for blood parasite infection, thereby allowing interventions to be implemented more effectively and efficiently (Sansamur et al., 2025).

Overall, this study contributes significantly to the understanding of blood parasite epidemiology in beef cattle in Agam Regency, West Sumatra, and may serve as a basis for improved livestock disease control policies at provincial and national levels (Muhanguzi et al., 2010), (Parveen et al., 2021b), (Simking et al., 2014a).

The high prevalence of *Theileria* sp. in beef cattle in Agam Regency, West Sumatra, is consistent with reports from other tropical regions stating that theileriosis is an endemic disease transmitted by ticks of the genera *Rhipicephalus* and *Haemaphysalis* (Atea Kamel et al., 2024) , (Shahzad et al., 2025) . The prevalence of 70.55% indicates wide and continuous exposure to vectors within smallholder farming environments.

The higher prevalence in local cattle compared to crossbred cattle may be explained by differences in management systems. Local cattle are commonly raised extensively with minimal vector control, resulting in greater exposure to tick infestation (Farooqi et al., 2017) . However, the absence of a statistically significant difference suggests that environmental exposure may play a more dominant role than genetic factors alone.

Babesia sp. infection exhibited a different pattern, with a significant difference in prevalence across cattle types. The high RR and OR values indicate that local cattle represent a high-risk group

for babesiosis. This aligns with studies suggesting that *Babesia* infections are often chronic and subclinical in local cattle, making detection more likely in microscopy-based surveillance (Mosqueda *et al.*, 2012), (Fadunsin *et al.*, 2017) .

The absence of *Anaplasma* sp. and *Trypanosoma* sp. could be explained by a truly low infection rate, limitations in the sensitivity of blood smear examination, or the intermittent nature of infection (Putri Ani *et al.*, 2025), (Sansamur *et al.*, 2025) . Molecular methods such as PCR are known to provide higher sensitivity and may therefore be recommended for future studies.

CONCLUSION

Based on the results of this study, it can be concluded that *Theileria* sp. was the most prevalent blood parasite in beef cattle in Agam Regency, West Sumatra, with an overall prevalence of 70.6% and higher dominance in local cattle (81.8%) (Shabangu *et al.*, 2025b) , (Parveen *et al.*, 2021a) . Although the prevalence of *Babesia* sp. was lower (18.4%), it remained significant, particularly in local cattle (40.9%), indicating that local cattle are more susceptible to blood parasite infections than crossbred cattle (Silva-Ramos *et al.*, 2025) , (Muriu, 2023) . Risk analysis further showed that local cattle had higher Odds Ratio (OR) and Relative Risk (RR) values for both parasites, emphasizing the need for special attention to the local cattle population (Elati *et al.*, 2023) , (Simking *et al.*, 2014a) . The absence of *Anaplasma* sp. and *Trypanosoma* sp. in this study may reflect a low prevalence in the area or environmental and vector-related limitations during the study period (Cahyaningsih, Yellita, *et al.*, 2026) , (de la Fuente *et al.*, 2023) .

RECOMMENDATIONS

The recommended approach for controlling blood parasite infections includes integrated strategies focusing on livestock health management, such as periodic antiparasitic treatment, vector control, and routine monitoring for early detection of infection (Cahyaningsih, Yellita, *et al.*, 2026), (Simking *et al.*, 2014b) . Farmer education regarding the identification of clinical signs and implementation of good husbandry practices is also essential to reduce infection risk (P. Ganesan *et al.*, 2025), (Sangwan & Haq, 2024) . This study highlights the importance of ongoing surveillance and utilization of epidemiological data to develop evidence-based control strategies, including spatial mapping to identify high-risk areas (Yousif, Kamal Dyab, *et al.*, 2026), (Gharbi & Darghouth, 2015), (Dharanesha *et al.*, 2017).

Therefore, the findings of this study not only contribute to the scientific literature on blood parasite epidemiology in beef cattle in Indonesia but can also serve as a foundation for provincial and national livestock disease control programs and policies (Fadunsin *et al.*, 2017), (Atea Kamel *et al.*, 2024). The implementation of these recommendations is expected to improve beef cattle health, productivity, and welfare, while supporting sustainable livestock production in Agam Regency, West Sumatra.

ACKNOWLEDGEMENT

The authors would like to express their sincere appreciation to the Livestock and Animal Health Service of West Sumatra Province for providing valuable data and information that greatly contributed to the completion of this study.

REFERENCES

Alwuthaynani, T. H., Alnahari, H. Y., Alsulam, M. N., Khouja, F. H., Khouja, A. H., Aljamei, H. M., Ahmed, H. N., & Albohri, H. H. (2026). Bovine Theileriosis : Epidemiology , Pathogenesis ,

- Diagnosis , and Control Strategies. *Journal of Pharmaceutical Research International*, 38(5), 37–60.
- Atea Kamel, F., Kamal Dyab, A., Khedr, A. A., & Mahmoud Abd-elrahman, S. (2024). EPIDEMIOLOGICAL AND CLINICAL MANIFESTATIONS OF BLOOD PARASITIC INFECTIONS IN CATTLE IN ASSIUT GOVERNORATE EGYPT. In *Assiut Veterinary Medical Journal Assiut Vet. Med. J* (Vol. 70, Number 181). www.aun.edu.eg
- Cahyaningsih, U., Yelitta, Y., Putra, E., & Roza. (2026). Prevalence and molecular characterization of Babesia and Theileria species in cattle from West Sumatra, Indonesia. *Jurnal Medik Veteriner*, 9, 41–51. <https://doi.org/10.20473/jmv.vol9.iss1.2026.41>
- Cahyaningsih, U., Yellita, Y., Putra, E., Roza, Satrija, F., Arif, R., Inarsih, D., Santosa, B., & Nugraha, A. B. (2026). Prevalence and molecular characterization of Babesia and Theileria species in cattle from West Sumatra, Indonesia. *Jurnal Medik Veteriner*, 1. <https://doi.org/10.20473/jmv.vol9.iss1.2026.41>
- Casa, S., Vettori, J. D. M., Souza, K. M. De, Benetti, P. R., Miletti, L. C., Ivane, C., Vogel, G., Luiz, A., & Lima, F. (2014). Prevalence and risk factors associated with Babesia bovis infection in Crioula Lageana cattle. *The Journal of Infection in Developing Countries*. <https://doi.org/10.3855/jidc.18052>
- de la Fuente, J., Estrada-Peña, A., Rafael, M., Almazán, C., Bermúdez, S., Abdelbaset, A. E., Kasaija, P. D., Kabi, F., Akande, F. A., Ajagbe, D. O., Bamgbose, T., Ghosh, S., Palavesam, A., Hamid, P. H., Oskam, C. L., Egan, S. L., Duarte-Barbosa, A., Hekimoğlu, O., Szabó, M. P. J., ... Dahal, A. (2023). Perception of Ticks and Tick-Borne Diseases Worldwide. In *Pathogens* (Vol. 12, Number 10). Multidisciplinary Digital Publishing Institute (MDPI). <https://doi.org/10.3390/pathogens12101258>
- Dharanesh, N. K., Giridhar, P., Byregowda, S. M., Venkatesh, M. D., & Ananda, K. J. (2017). Seasonal prevalence of blood parasitic diseases in crossbred cattle of Mysore and its surrounding districts of Karnataka. *Journal of Parasitic Diseases*, 41(3), 773–777. <https://doi.org/10.1007/s12639-017-0887-5>
- Elati, K., Salhi, I., Kodja, R., Rekik, M., & Gharbi, M. (2023). Epidemiological situation of bovine tropical theileriosis in an arid region in central Tunisia with a phylogenetic analysis of Theileria annulata. *Veterinary Medicine and Science*, 9(6), 2862–2870. <https://doi.org/10.1002/vms3.1276>
- Fadunsin, O., A.M, M., A.R, I., A, A., P, C., F.F.A, J., R.A, S., & R.S.K, S. (2017). MOLECULAR PREVALENCE AND SPECIES OF INFECTIOUS BOVINE HAEMOPARASITES IN PENINSULAR MALAYSIA (2). 8.
- Farooqi, S. H., Ijaz, M., Saleem, M. H., Rashid, M. I., Ahmad, S. S., Islam, S., Aqib, A. I., Khan, A., Hussain, K., & Khan, N. U. (2017). PREVALENCE AND MOLECULAR DIAGNOSIS OF THEILERIA ANNULATA IN BOVINE FROM THREE DISTINCT ZONES OF KHYBER PAKHTUNKHWA PROVINCE, PAKISTAN. In *The J. Anim. Plant Sci* (Vol. 27, Number 6).
- Fuente, D., Estrada-peña, A., Rafael, M., Almaz, C., Berm, S., Abdelbaset, A. E., Kasaija, P. D., Kabi, F., & Akande, F. A. (2023). Perception of Ticks and Tick-Borne Diseases Worldwide. *Pathogens*, 1–31.

- Ganesan, P. I., Shweta, N., & Archana, C. (2025). Co-infection status of clinical resistant Theileria, Babesia and Anaplasma parasites in Holstein Friesian cows in an organized dairy farm. *International Journal of Advanced Biochemistry Research*, 9(6), 71–74.
- Ganesan, P., Shweta, N., & Archana, C. (2025). Co-infection status of clinical resistant Theileria, Babesia and Anaplasma parasites in Holstein Friesian cows in an organized dairy farm. *International Journal of Advanced Biochemistry Research*, 9(6S), 71–74. <https://doi.org/10.33545/26174693.2025.v9.i6sb.4491>
- Gareh, A., Sadek, H. A., Dyab, A. K., Arafa, M. I., & Sayed, G. M. (2026). An updated assessment of the molecular prevalence and risk factors of Babesia infection among crossbred cattle: a diagnostic cross-sectional study. *BMC Veterinary Research*.
- Gharbi, M., & Darghouth, M. A. (2015). Control of tropical theileriosis (Theileria annulata infection in cattle) in North Africa. In *Asian Pacific Journal of Tropical Disease* (Vol. 5, Number 7, pp. 505–510). Elsevier B.V. [https://doi.org/10.1016/S2222-1808\(15\)60825-8](https://doi.org/10.1016/S2222-1808(15)60825-8)
- Jian Muriu. (2023). Impact of Parasites and Parasitic Diseases on Animal Health and Productivity. *Journal of Animal Health*, 3(1), 13–23.
- Mosqueda, J., Olvera-Ramírez, A., Aguilar-Tipacamú, G., & Cantó, G. J. (2012). Current Advances in Detection and Treatment of Babesiosis. In *Current Medicinal Chemistry* (Vol. 19).
- Muhanguzi, D., Matovu, E., & Waiswa, C. (2010). Prevalence and Characterization of Theileria and Babesia Species in Cattle under Different Husbandry Systems in Western Uganda. *International Journal of Animal and Veterinary Advances*, 2(2), 51–58.
- Muriu, J. (2023). Impact of Parasites and Parasitic Diseases on Animal Health and Productivity. *Journal of Animal Health*, 3(1), 13–23. <https://doi.org/10.47604/jah.2100>
- Parveen, A., Alkhaibari, A. M., Asif, M., Almohammed, H. I., Naqvi, Z., Khan, A., Aktas, M., Ozubek, S., Farooq, M., & Iqbal, F. (2021a). Molecular epidemiology of theileria annulata in cattle from two districts in Punjab (Pakistan). *Animals*, 11(12). <https://doi.org/10.3390/ani11123443>
- Parveen, A., Alkhaibari, A. M., Asif, M., Almohammed, H. I., Naqvi, Z., Khan, A., Aktas, M., Ozubek, S., Farooq, M., & Iqbal, F. (2021b). Molecular epidemiology of theileria annulata in cattle from two districts in Punjab (Pakistan). *Animals*, 11(12). <https://doi.org/10.3390/ani11123443>
- Parveen, A., Alkhaibari, A. M., Asif, M., Almohammed, H. I., Naqvi, Z., Khan, A., Aktas, M., Ozubek, S., Farooq, M., & Iqbal, F. (2021c). Molecular Epidemiology of Theileria annulata in Cattle from Two Districts in Punjab (Pakistan). *Animals*, 1–12.
- Perumalsamy, N., & Sharma, R. (2024). Hard Ticks as Vectors : The Emerging Threat of Tick-Borne Diseases in India. *Pathogens*.
- Putri Ani, A., Masri, M., Pamulang, U., Serang, K., Parasit terhadap Kesehatan dan Produktivitas Sapi di Peternakan Rakyat Indonesia, D., & Risiko dan Strategi Pencegahan, F. (2025). Dampak Parasit terhadap Kesehatan dan Produktivitas Sapi di Peternakan Rakyat Indonesia: Faktor Risiko dan Strategi Pencegahan How it Cited. In *Nexus: Journal of Cross-Disciplinary Insights* (Vol. 1, Number 1). <https://sinesia.org/index.php/Nexus/index>
- Ramiro, C., Andrés, S. J., Rodríguez, N., Paola, J. G., Manuel, E. F. J., & Bolaños, M. E. (2025). Babesia spp. in Domestic Animals from Rural Areas of Cauca Department: Previous Exposure and Molecular Detection Among Canines, Bovines and Equines. *Acta Parasitologica*, 1–11.

- Safeldin, M. A., Abdel Gadir, A. E., & Elmalik, K. H. (2025). Seasonal Dynamics of Blood Parasite Infections in Dairy Cattle: A Study from Omdurman, Sudan. In *International Journal of Animal Breeding and Genetics* (Vol. 14, Number 2). www.internationalscholarsjournals.org
- Sangwan, T., & Haq, A. U. (2024). *TICK-BORNE DISEASES IN CATTLE: AN AREA OF IMMENSE ATTENTION*.
- Sansamur, C., Boonchuay, K., Ngasaman, R., Olana, K. O. A., & Punyapornwithaya, V. (2025). Epidemiology and factors associated with the infection of Babesia bigemina, Babesia bovis, and Theileria orientalis in Thale Noi Wetland buffaloes (Bubalus bubalis), Southern Thailand. *BMC Veterinary Research*, 21(1). <https://doi.org/10.1186/S12917-025-04846-1>
- Shabangu, K., Mokoena, K., & Tyasi, T. L. (2025a). Phenotypic Correlation Between Body Weight and Linear Body Measurements of Savanna Goats. *Andalasian Livestock*, 02, 135–143. <https://doi.org/10.25077/alive.v2.n2.p135-143.2025>
- Shabangu, K., Mokoena, K., & Tyasi, T. L. (2025b). Phenotypic Correlation Between Body Weight and Linear Body Measurements of Savanna Goats. *Andalasian Livestock*, 2(2), 135–143. <https://doi.org/10.25077/alive.v2.n2.p135-143.2025>
- Shahzad, S., Akinsulie, O. C., Idris, I., Devnath, P., Ajagbe, D., Aliyu, V. A., Oladoye, M. J., Ukauwa, C., Ugwu, C. E., Ajulo, S., Oyeleye, B. S., Ikele, C. G., & Shelly, S. Y. (2025). Ticks and tickborne diseases in Global South countries: impact and implications of environmental changes. *Frontiers in Tropical Diseases*, 6. <https://doi.org/10.3389/fitd.2025.1597236>
- Silva-Ramos, C. R., Niño Rodríguez, J. A., Gil-Mora, J., Betancourt-Ruiz, P., Martínez-Díaz, H. C., Forero-Becerra, E., Matiz-González, J. M., Bolaños, E., Olaya-M, L. A., Benavides, E., & Hidalgo, M. (2025). Babesia spp. in Domestic Animals from Rural Areas of Cauca Department: Previous Exposure and Molecular Detection Among Canines, Bovines and Equines. *Acta Parasitologica*, 70(6). <https://doi.org/10.1007/s11686-025-01156-2>
- Simking, P., Yatbantoong, N., Saetiew, N., Saengow, S., Yodsri, W., Chaiyarat, R., Wongnarkpet, S., & Jittapalapong, S. (2014a). Prevalence and risk factors of Babesia infections in cattle trespassing natural forest areas in Salakpra Wildlife Sanctuary, Kanchanaburi Province. In *J Trop Med Parasitol* (Vol. 37, Number 1). <http://www.tm.mahidol.ac.th/ptat>
- Simking, P., Yatbantoong, N., Saetiew, N., Saengow, S., Yodsri, W., Chaiyarat, R., Wongnarkpet, S., & Jittapalapong, S. (2014b). Prevalence and risk factors of Babesia infections in cattle trespassing natural forest areas in Salakpra Wildlife Sanctuary, Kanchanaburi Province. In *J Trop Med Parasitol* (Vol. 37, Number 1). <http://www.tm.mahidol.ac.th/ptat>
- Youssif, M. E., Dyab, A. K., Elzoghby, R. rashed, & Elnaker, Y. fathi. (2026). Molecular and Epidemiological Studies of Blood Parasites in Cattle and Buffaloes in New Valley Governorate, Egypt. *New Valley Veterinary Journal*.
- Youssif, M. E., Kamal Dyab, A., Rashed, R., & Fathi Elnaker, Y. (2026). *Molecular and Epidemiological Studies of Blood Parasites in Cattle and Buffaloes in New Valley Governorate, Egypt*.